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SANSKRIT
( Major )

Paper : 2.1

Full Marks : 80
Time : 3 hours
- The figures in the margin indicate full marks
" for the questions
( History of Classical Sanskrit Literature )
( Marks : 35 )

1. Answer any two of the following questions : .
10x2=20
(a) Discuss the characteristics of the ornate
poetry.

(b) Name the Mahdkivyas included into
Paficamahdkavya and make an assessment
of any two Mahakavyas of them.

{c) Show your aéquaintancc with the Lyrics in
Sanskrit literature,
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2. Write short notes on any two of the following :

5%2=10
Saundaranandam ; Bhattikdvyam ; Kalhana ;
Bharavi.
3. Answer the following questions as directed : 1x5=5

(a) Rtusarthdra of Kalidasa is included into
Laghutrayi.

( Determine whether the statement

is True or False )

(b) The Sisupalavadham of Magha contains 18 /
19 / 20 Cantos. :

( Rewrite the sentence with the

appropriate number )

(c) How many Ucchasas are there in the
Harsacarita?

- (d) Write the name of the author of Nava-
sahasankacarita.

(e) Mayira’s Siryasatakam is the eulogy to
Stirya for curing the disease called

(Fill in the blank with
“appropriate word )
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( Laghusiddhﬁn@kaumudi )
( Marks : 25)

4. Explain fully with proper examples any five of the
following : 2x5=10
TIMSRH: ; A L ; F: §1 Qe 5 G5
TN AE ; AFTRRRISTAR: ; M T

S. Join and disjoin the Sandhis in any five of the
following : 1x5=5
wyg + AR ; W+ g ; 9 + B ; FoIRg:
gy ; Ne: ; w

6. Answer any two of the following questions :
’ 5x2=10

(a) What do you mean by TifaufeF4? Mention
the cases where T99T fRifRF is used.

(b) What is meant by F°T? Explain the

definition FFFORRGAAT with example.

(c) Explain the Sttra—WFARTN T with
example explaining the meaning of the term
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( General Grammar ) ) 8. Answer any two of the following questions : 5x2=10
( Marks : 20 ) (a) Give the resulting forms of any five of the
following :
7. Answer the following questions as directed : 10 () v+
(a) Decline any five of the following : 1x5=5 (ii) A + T
(i) U in I CEH (iii) & + ¥ + % 3rd person singular
(i) 7 in Rty ga=a (iv) T T T
(iii) WY in FEf S ! (v) st i w
(iv) I in Foll T o (vi) TAhm sTRy
(v) ¥ (de) in v 3 (b) Frame sentences to show the difference in
(vi) I in gdl &FH meaning of any two of the following pairs :
e follows %55 (i) WY and TeAfa
b) . Conjugate any five of the following : x3= . .
®l - . ocal (ii) =8l and WA
(i) 9 + &< 3rd person ph
' ) (iii) TRf and TR
(ii) I + S 2nd person singular
{c) Distinguish between FaT=1 and WHI=T with
person plural
(ii) & + ¥ 3rd "P suitable examples.
(iv) T + T 1st person singular
(v) § + &2 3rd person singular * % %
(vi) I + % 3rd person dual |
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